
 

 

 

 

1. Write down times table of 5 in the given box chart:                                                 

   

 

  

  

 
 

 

 

 

  

 

 

     Math 



2. Choose exact answer from the right side and write in the 

appropriate box.  

6 × 0 = 

6 × 1=     

6 × 2=     

6 × 3=     

6 × 4=     

6 × 5=     

6 × 6=     

6 × 7=     

6 × 8=     

6 × 9=     

6 × 10 =     

 
 
 
 
 
 
 
 
 
 
 

18 

30 

36 

0 

60 

48 

6 
24 

12 
54 

42 



3. Draw lines to match the 7 times table fact to its answers.         

 

7 × 3=     70   7 × 2=     35 

7 × 10=     
21 

  7 × 4=     14 

7 × 8=     
49 

  7 × 5=     28 

7 × 1=     56   7 × 6=     63 

7 × 7=     7   7 × 9=     42 

 

 
 

 
 
 
 
 
 
 
 


